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B. Tech. EXAMINATION, Dec. 2013
[1l1xd Semester B-Scheme (Main Only)]
CSE&IT
COMPUTER BASED NUMERICAL AND
STATISTICAL TECHNIQUES
CSE-205-B

Time : 3 Hours Mazimum Marks :75

Belorc answering the Question Paper candidates shoald
cnsure thal they have been supplicd the correct and
‘complete Question Paper. No complaints in this regard,
will be entertained after the examination.

Note: Attempt any five questions taking at least one

from each unit

Unit
1. Discuss various types of errors in detail. Determinc

the maximum relative error of the function
+38 for

[PTO.



[image: image2.jpg]2. (3 Find by Newton's method, the real root of the

equation 3x =cosx+1

(b) Discuss Bisection method and find the

approximate value of the root of the cquation

3x—f{T+5inx) =0 correct to three decimal

places.
Unit I1

3. (a) Using appropriate interpolating formula find »
218 using the following data

atx

P 100 [ 150 [ 200 [ 250 300 [ 30 [ 00

(b) Using Lagrange’s interpolation formula, find
the value of y corresponding to x = 10 from the
following table

s s e o ]
T[]




[image: image3.jpg]4. What do you understand by Hermite interpolation?
Witc the underlying assumptions in the derivation
of Hermite interpolation formula, Use Hermite
formula to find 2 polynomial which meets the

following specifications.
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Unit 111

5. (2) Find first derivative of the function y = / (x) at

x= 1.1 using the table

| [ [ 16 (s [0
/@] 00 Jo1280]0.5340[ 12960 24320] 4.00

() Usiag Simpson's 13 rale, evaluate | I

taking = 0.2

() 3 1.0,



[image: image4.jpg]6. Find out the expression for general Newton's Cotes

s
quadature formula for | (x)dx and hence derve

the expression for Simpson’s 3/8 rule.
Unit 1V

7. Whatis Bay's Theorem? There arc three bags: first
contsining 1 white, 2 red and 3 green ball; second
2 while, 3 red and | green balls and third 3 white, 1
red and 2 g

bag chosen at random. These are found to be one

en balls. Two balls are drawn from 2

white and one red. Find the probability that the
balls 50 drawn came from the second bag.

8. Discuss the Poisson distribution in detail and show
that poisson variate mean is equal to variance. Find
the probability that the most 5 defecrive fuses will
be found in a box of 200 fuses if experience shows

that 2% of such fuses are defective.
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